MATZ705-02/06 O9F TESTZ Ansuers |
e . - — _
( o) see test sheekgrap(owerngn® @ 23 -V, ¥ =0

2 2 ( 70 _ (0
grupht cally one fma\s )73, = 2";);-\—4)/2 2 [|] - [1]+[0J = [g}

so  (yuy= (2,4). e \ \/\:(7 -3 ;('

These weffiaénts arethe numboerorimes oy -

ks Yail one repeals eachof the vospechve dheck ! 24—2‘ +g}:{ﬂ) _
vadhors 1o get the 2 edges of the paralidegmm S hz1) L

Coming from the ongin,

) (2 AR B ET T A -0V
&)= HEANE [2 gk

{B));z)%z, $ veram and are 3

(= B‘l,— 3 -1 [21 = L[2%9 [inear! m:\epem\ev'\{‘ vedors 11y (3
- L2 7 -~ Y
4 A— —QL arzt So —'Hnaﬂ S?ir) QE3 ard are %eﬂfov—e

A R e
== f )

3 ) Canwe ﬁnd\ Co-cg-\c ents X y¥2 Y},? N
d.) BBS\, O b ) ]

2_(—5?’ 2 | Z X 67
@G) /A\: LZ 6 - ‘24 | = 4
0 -3 3\ X\ (0 (41 6
©2 (11 J_
~3 Az { ¢\ rfe o0 2 X, =2
~ X %224—~—F—> ol 0 1|2
Q> =(21-32 0 131 ¢ 6006}
l T o0-20 Tt 2 0 00 0
-ld?) -l L %1 ¥
T Lo~z 00
Ma?‘e o | \ 0 ©
o9 01 0
X, W2 Xz X4
L. F L

Xg:‘b X,:"‘ZX?:Zk
Xe= =~ X3 =2=¢%

4= 0 Oay
Yielxi = [ 2t = 4
Xy -.& -
X -
k‘f O 6

A-d soln space , basis vechor ;, <2-HW ;Od e




